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u(tan A1) · · · (tan An) = 1��0�(sin A1) · · · (sin An)Ýt�Â�

����°1. ´�Þ(tan A1) · · · (tan An) = 1��rË\!`¶|(cos A1) · · · (cos An)�
�ÿÕ

(sin A1) · · · (sin An) = (cos A1) · · · (cos An).

�x = (sin A1) · · · (sin An) = (cos A1) · · · (cos An)�J

x2 = (sin A1) · · · (sin An)(cos A1) · · · (cos An)

x2 =

(
1

2

)n

(2 sin A1 cos A1) · · · (2 sin An cos An)

x2 =

(
1

2

)n

(sin 2A1) · · · (sin 2An)

x2 ≤
(

1

2

)n

x ≤
(

1

2

)n/2

�|s¨	A1 = · · · = An = π/4`��P(tan A1) · · · (tan An) = 1Wñ
vx =

(
1
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)n/2�.h(sin A1) · · · (sin An)Ýt�Â
2−n/2�

�°2. �ti = tan Ai�J
∏n

i=1 ti = 1vsin Ai = ti/
√

1 + t2i�
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ti√
1 + t2i

=
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1√
1 + t2i

≤
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1√
2ti

= 2−n/2

(
n∏

i=1

ti

)−1/2

= 2−n/2.

	ti = 1`��rWñ�.hAi = π/4�v(tan A1) · · · (tan An) = 1ôW
ñ�.h(sin A1) · · · (sin An)Ýt�Â
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